EFE4r (Definite Integral) (2008/07/10)
6.3 EREHDOHE

RIEFED DBHFES LTSN OWTT TITRATE DT, 22T ERE S OB S LTSN T
DFEINBIED D,

FH5: (BHRESE) X=4@(1) (a<t<Db) DEXKORMHIL
[ 1 0ac=[ () @)ct

AE: F(X) % f(X) oGBS ET 58, F(o(t)) 1 T (a(t)g' (t) DB THD. Lizid>C, T FEy
FORAEHIY,

[T 000 0t = F(p(o)) - F (@) = [ ' (¢

EH6: (HoEmE) u=1(X), Vv=0g(X) oW TROXAI LD

_[: udv=[uv]® —j:vdu

FIERH

I:udv+ j:vdu = E uv'dx+ J': u'vdx= j:(uv'+u'v)dx = _[:(uv)‘dx =[uv]®

Bl IR D TEFE T DEE R D THI,

Eﬂdx
2 H YR U R CRIRA RS . Lo
ﬂﬁdx:ﬂﬂnxdx:ﬂﬁx(xwdx:[ﬂxx}; ~ [[(W1=x?y xxxdx

ROMASEETHITS,
(i) - ((1— x2)§j _ G L-x) - x2)'j . G (L-x) (—2x)j _
ZORRELLORI AP,

R e e

X X x OX = [Xﬂt Iﬂ

N \/1—x2 N

220 ERALTTD, YD

o W ( S }i




R e

V1-x2 \/1 x?

lel x2dx = [x N xt r\/l xdx+jﬂdx

2 2 2 l
I\/l—x dx+I v1-Xx dx:[xxll—x t+rﬂdx
ZI\/1 x2dx = [xl xt Iﬂ
LFdXZ[S'n 1(x)]2 hEE-STHL,

—X

Jj\/l— x%dx =% :x\/l— x? ]:; +% [sin‘l(x)]é
Jj\/l— x%dx =% :x\/l— X2 ]:; +% [sin‘l(x)]é
[[V1-x?dx =% :1J1—12 ~0V1-0? ]+%[sin‘1(l) ~sin*(0)]
_E\/l—xzdx=%:1\/5—0]+i[z—o}

212

4

J.lx/l— X2 dx =1{£} =2
0 2| 2

Jd i} @1—

1
1—x?

jdx



